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QUESTION 1

Given the code fragment:

final List<String> list = new CopyvOnWriteArrayList<>();

final AtomicInteger ai = new AtomicInteger {0):

final CyclicBarrier barrier = new CyclicBarrier (2, new Runnable()
public void run{} { System.out.printlin (1liEg) ; }

)i \

Bunnable r = new BRunnable() {
pubdic woid rant) {
i el |

Thread.sleep (1000 * aiSintrementandGet());
list.add("®X"); [ Py

barrier.await(); \
} catch (Exception“ek) 1
} %,
}

new Thread{r).start 'H
new Thread(r).starti(}
new Thread(r).start ()
new Thread(r).start()

What is the result?
A. [, X] [X, X, X, X]

B. [X] [X, X] [X, X, X]

C. [X] [, X] [%, X, X] [X, X, X, X]
D. [x, X]

Correct Answer: A

QUESTION 2

Given the code fragment:
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public class Test {
public static void maindString[] args) f{
Greeter g = {5}_—} i
return s + feWelcome!™;
| '
System.Gutﬁgriﬂtlﬂ{g.greet{"Kathy"}};

Which is the valid definition for the Greeter interface to enable the code fragment to print Kathy Welcome!?

A public interface Greeter {
public String greet (String name) ;
H

B. public interface Greeter {
public default String greeg{3tring name) ({
return name;

}

public String greetdfdtring name, String salute);

}

C. public interface Greeter<T> {
public statig®d8tring greet (T name);
} r.

D. public interfiace Greeter |
public default String greet (String name) ;

A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: A

Code example works fine:
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publiczc class Test {

public interface Greeter |
public String greet(String . nmame) ;

S
public static voidfmain (String[] args) {
Greeter g =W#) -> {
return s + "Welcome!";
bi
SystamJout.println{g.greet ("Kathy")) ;
h
}
QUESTION 3

Which is true the regarding the java.nio.file.Path interface?

A. Implementations of this interface are not safe for use by multiple concurrent threads.

B. The interface extends the WatchService interface.

C. Implementations of this interface are immutable.

D. Paths associated with the default provider are not interoperable with the java.io.File class.
Correct Answer: B

This interface extends Watchable interface so that a directory located by a path can be registered with a WatchService
and entries in the directory watched.

Reference: https://docs.oracle.com/javase/7/docs/api/java/nio/file/Path.html

QUESTION 4

Given the code fragment:

14 . //insert code here

Tk List fontCatalog = new ArrayList();

l6.

3 B 8 fontcatalog.add(I'Aigerian™)

18 fontCatalog.add{"Cambria™) ;

19. fontCatalog.add ("Lucida Bright");

20. category.put ("firstCategory", fontCatalog):;

Which two code fragments, when inserted independently at line 14, enable the code to compile? (Choose two.)
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A. Map category = new HashMap();
B. Map category = new HashMap();
C. Map category = new HashMap();
D. Map category = new HashMap();
E. Map category = new HashMap();
F. Map category = new HashMap();

Correct Answer: DF

QUESTION 5

Which two statements are true about localizing an application? (Choose two.)

A. Language codes use lowercase and region codes use uppercase letters.

B. Resource bundle files include date and currency information.

C. Language and region-specific programs are created using localized data.

D. Support for new regional languages does not require recompilation of the code.
E. Textual elements (messages and GUI labels) are hard-coded on the code.
Correct Answer: AC

A: The following examples create Locale objects for the French language in Canada, the English language in the U.S.
and Great Britain.

aLocale = new Locale("fr", "CA"); bLocale = new Locale("en", "US"); cLocale = new Locale("en", "GB");

C: Localization is the process of adapting an internationalized application to support a specific region or locale. Incorrect
Answers:

B: Resource bundle files does not include date a currency information. Date and currency information are stored in
locales, not in resource bundle files.

D: Recompilation is not necessary.
E: Textual elements are not hard-coded on the code.

References: https://docs.oracle.com/javase/tutorial/il8n/locale/create.html
http://docs.oracle.com/javaee/6/tutorial/doc/bnaxw.html
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